. BC Calculus Quiz #11 v.A
Integration Stuff
Dr. Wisniewski Spring 2020
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Instructions: Solve each of the problems below. Please show your work {for partial credit) and
box or circle your answers. A calculator is NOT permitted on this quiz.

1. (2Pts) Let f(x) = [ :tz dt . Find f'(2).
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2. (4 Pts) Find the average value of the function f{x) = 16 — x* on [—4, 4]. Find at least
one value of x, callitx = % for which f(c) = the average va!ue .
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3. (2 Pts) The average value of a continuous function f(x) on [3, 7] is 12. What is the value
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4. (4 Pts) A large tank initially contains 132 gallons chemical X. Starting at ¢ = 0, where t is
measured in minutes, more chem X is pumped into the tank at the rate 3t + 1 gallons

per minute. What volume of chem Xis in the tankatt =5 minutes?
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, \’O 5. Evaluate each of the following integrals.
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BC Calculus Guiz #11 v.B

integration Stuff Dr. Wisniewski Spring 2020
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Instructions: Solve each of the problems below. Please show your work (for partial credit) and
box or circle your answers. A calculator is NOT permitted on this quiz.

1. Evaluate each of the following integrals.
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3. (4 Pts) Find the average value of the function-f(x) =16 — x? on [—4, 4]. Find at least
one value of x, call it x = ¢, for which f(¢) = the average value.
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4. {2 Pts) The average value of a continuous function f(x) on [3,7] is 20. What is the value
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5. (4 Pts) A large tank initially contains 127 gallons chemical X. Starting at t = 0, where t is
measured in minutes, more chem X is pumped into the tank at the rate 3t% + 2 gallons
per minute, What volume of chem Xis in the tank at £ = 5 minutes?
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